

APPELL SET OF POLYNOMIALS

by VIKRAMADITYA SINGH, *Department of Mathematics, University of Delhi*

(Communicated by R. S. VARMA, F.N.I.)

(Received November 13, 1952; read May 7, 1954)

1. INTRODUCTION

A set of polynomials $\{P_n(x)\}$, where $P_n(x)$ is of degree n in x , is said to be an Appell set, if it satisfies the relation

$$P'_n(x) = P_{n-1}(x). \quad \dots \quad (1)$$

An equivalent definition is the existence of a power series

$$A(t) = \sum_{n=0}^{\infty} a_n t^n \quad a_0 \neq 0 \quad \dots \quad (2)$$

such that

$$A(t) e^{tx} = \sum_{n=0}^{\infty} t^n P_n(x) \quad \dots \quad (3)$$

and $A(t)$ is called the generating function of the set of polynomials $P_n(x)$.

Varma [4] has recently given a generalization of Sheffers [1] representation of Appell polynomials. His result may be stated as follows:

If

$$I_{n,r} = \int_0^{\infty} \delta_n(t) t^r d\beta(t) \quad \dots \quad (4)$$

$$n, r = 0, 1, 2, \dots$$

exists such that $I_{0,0} \neq 0$, then the Appell set is given by

$$P_n(x) = \int_0^{\infty} K_n(x, t) d\beta(t) \quad \dots \quad (5)$$

where

$$K_n(x, t) = \sum_{r=0}^n \delta_{n-r}(t) \frac{(x+t)^r}{r!}. \quad \dots \quad (6)$$

In particular

$$P_n(x) = \frac{x^n}{n!} \int_0^{\infty} {}_3F_2 \left\{ \begin{matrix} -n, a, b \\ c, d \end{matrix}; -\frac{t}{x} \right\} d\beta(t)$$

and the generating function then is

$$A(t) = \int_0^{\infty} {}_2F_2 \left\{ \begin{matrix} a, b \\ c, d \end{matrix}; ut \right\} d\beta(u)$$

In the present paper we give an extension of Varma's result to

$$P_n(x) = \frac{x^n}{n!} \int_0^\infty {}_{r+1}F_r \left\{ \begin{matrix} -n, a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; -\frac{t}{x} \right\} d\beta(t)$$

and

$$A(t) = \int_0^\infty {}_rF_r \left\{ \begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; ut \right\} d\beta(u)$$

and also give, by means of operational calculus, some expressions for $P_n(x)$ in terms of confluent hypergeometric functions.

2. A NEW INTEGRAL REPRESENTATION

We begin by establishing the following lemma :

$$\begin{aligned} \sum_{n=0}^\infty \frac{(xu)^n}{n!} {}_{r+1}F_r \left\{ \begin{matrix} -n, a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; -\frac{t}{x} \right\} \\ = e^{xu} {}_rF_r \left\{ \begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; ut \right\} . \quad \dots \quad \dots \quad \dots \quad (7) \end{aligned}$$

Proof: with the usual notation

$$(a_p, r) = a_p(a_p+1) \dots (a_p+r-1)$$

we can write the left hand side of (7) as

$$\sum_{n=0}^\infty \frac{(xu)^n}{n!} \sum_{p=0}^n (-n, p) \frac{(a_1, p) \dots (a_r, p)}{(b_1, p) \dots (b_r, p)} \frac{1}{p!} \left(-\frac{t}{x} \right)^p.$$

Now

$$\begin{aligned} (-n, p) &= (-1)^n n(n-1) \dots (n-p+1) \\ &= (-1)^n n! / (n-p)!, \end{aligned}$$

therefore the left hand side

$$\begin{aligned} &= \sum_{n=0}^\infty \frac{(xu)^n}{n!} \sum_{p=0}^n \frac{(a_1, p) \dots (a_r, p)}{(b_1, p) \dots (b_r, p)} \frac{n!}{p! (n-p)!} \left(\frac{t}{x} \right)^p \\ &= \sum_{p=0}^\infty \frac{(ut)^p}{p!} \frac{(a_1, p) \dots (a_r, p)}{(b_1, p) \dots (b_r, p)} \sum_{n=p}^\infty \frac{(xu)^{n-p}}{(n-p)!} \\ &= e^{xu} {}_rF_r \left\{ \begin{matrix} a_1, a_2, a_3, \dots, a_r \\ b_1, b_2, b_3, \dots, b_r \end{matrix}; ut \right\}, \end{aligned}$$

by an inversion of the order of summation.

Rice's result [3]

$$\sum_{n=0}^\infty \frac{(xu)^n}{n!} {}_3F_2 \left\{ \begin{matrix} -n, a_1, a_2 \\ b_1, b_2 \end{matrix}; -\frac{t}{x} \right\} = e^{xu} {}_2F_2 \left\{ \begin{matrix} a_1, a_2 \\ b_1, b_2 \end{matrix}; ut \right\}$$

follows at once from our lemma by taking $r = 2$.

On interchanging the order of integration and summation and using our lemma we get

$$A(u) e^{ux} = \sum_{n=0}^{\infty} P_n(x) u^n = e^{xu} \int_0^{\infty} {}_rF_r \left\{ \begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; ut \right\} d\beta(t).$$

Therefore

$$A(u) = \int_0^{\infty} {}_rF_r \left\{ \begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; ut \right\} d\beta(t) \dots \dots (11)$$

It is easy to see that

$${}_rF_r \left\{ \begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; ut \right\}$$

can be written as

$${}_rF_r \left\{ \begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_r \end{matrix}; ut \right\} = \prod_{p=1}^r \frac{\Gamma(b_p)}{\Gamma(a_p)\Gamma(b_p-a_p)} \int_0^1 x_p^{a_p-1} (1-x_p)^{b_p-a_p-1} e^{u x_p} d x_p \dots (12)$$

$$R(a_p) > 0, \quad R(b_p-a_p) > 0.$$

If we denote the generating function in (11) by $A_r(u)$ and use (12) we get

$$A_r(u) = \prod_{p=1}^r \frac{1}{B(a_p, b_p-a_p)} \int_0^1 x_p^{a_p-1} (1-x_p)^{b_p-a_p-1} d x_p \int_0^{\infty} e^{u x_p} d\beta(t) = \prod_{p=r-q+1}^r \frac{1}{B(a_p, b_p-a_p)} \int_0^1 x_p^{a_p-1} (1-x_p)^{b_p-a_p-1} A_{r-q} \left(u \prod_{p=r-q+1}^r x_p \right) d x_p, (13)$$

which gives us a relation between the generating functions obtained by the different choice of the order of the hypergeometric functions.

4. RELATION BETWEEN APPELL POLYNOMIALS AND SOME KNOWN FUNCTIONS

If x and y be two independent variables it is easy to see by Taylor's theorem and property of Appell polynomials that

$$P_n(x+y) = \sum_{p=0}^n \frac{y^p}{p!} P_{n-p}(x), \dots \dots (14)$$

and in particular

$$P_n(x) = \sum_{r=0}^n \frac{x^r}{r!} P_{n-r}(0) \dots \dots (15)$$

If we multiply both sides of (15) by e^{-px} and integrate from 0 to ∞ , we get

$$p \int_0^{\infty} e^{-px} P_n(x) dx = \sum_{r=0}^n P_{n-r}(0) \frac{1}{p^r} \dots \dots (16)$$

In the notation of operational calculus we can write (16) as

$$P_n(x) \doteq \sum_{r=0}^n P_{n-r}(0) p^{-r} \dots \dots \dots (17)$$

4.1. By means of an important theorem in operational calculus we have from (17)

$$e^{-x} P_n(x) \doteq \sum_{r=0}^x P_{n-r}(0) p/(p+1)^{r+1} \dots \dots \dots (18)$$

But we know that [Humbert and McLachlan 6]

$$x^{-\nu-\frac{1}{2}} e^{-x} W_{\mu, \nu}(x) \doteq (-)^{\mu+\nu+\frac{1}{2}} \Gamma(\mu-\nu+\frac{1}{2}) \frac{p^{\mu+\nu-\frac{1}{2}}}{(1+p)^{\mu-\nu+\frac{1}{2}}}.$$

Hence taking

$$\mu = \frac{r+2}{2} \text{ and } \nu = -\frac{r-1}{2},$$

we get

$$x^{\frac{r-2}{2}} e^{-x/2} W_{\frac{r+2}{2}, -\frac{r-1}{2}}(x) \doteq \Gamma(r+1) p/(p+1)^{r+1}.$$

Now from (18) and using Lerch's theorem we get

$$e^{-x} P_n(x) = \sum_{r=0}^n \frac{P_{n-r}(0)}{r!} x^{\frac{r-2}{2}} e^{-x/2} W_{\frac{r+2}{2}, -\frac{r-1}{2}}(x),$$

and finally

$$P_n(x) = \sum_{r=0}^n \frac{P_{n-r}(0)}{r!} x^{\frac{r-2}{2}} e^{x/2} W_{\frac{r+2}{2}, -\frac{r-1}{2}}(x) \dots \dots (19)$$

4.2. From (17) as before we have

$$e^{-x/2} P_n(x) \doteq \sum_{r=0}^n P_{n-r}(0) p/(p+\frac{1}{2})^{r+1} \dots \dots \dots (20)$$

But we know that [6]

$$M_{\mu, \nu}(t) \doteq \Gamma(\nu+3/2) \frac{p}{(p+\frac{1}{2})^{\nu+3/2}} {}_2F_1 \left\{ \nu+3/2, -\mu+\nu+\frac{1}{2}; \frac{1}{p+\frac{1}{2}} \right\},$$

$$R(\nu) > -3/2.$$

Putting $\nu = r-\frac{1}{2}$ and $\mu = r$ we get

$$M_{r, r-\frac{1}{2}}(t) \doteq \Gamma(r+1) p/(p+\frac{1}{2})^{r+1},$$

and hence as before

$$P_n(x) = \sum_{r=0}^n \frac{P_{n-r}(0)}{r!} M_{r, r-\frac{1}{2}}(x) e^{x/2} \dots \dots \dots (21)$$

4.3. It is well known from operational calculus that if $f(t) \doteq \phi(p)$ then

$$\frac{1}{\sqrt{\pi t}} \int_0^\infty e^{-x^2/4t} f(x) dx \doteq \phi(\sqrt{p}).$$

Therefore from (17) we have

$$\frac{1}{\sqrt{\pi x}} \int_0^\infty \exp \left[-s - \frac{s^2}{4x} \right] P_n(s) ds \doteq \sum_{r=0}^n P_{n-r}(0) \frac{\sqrt{p}}{(1+\sqrt{p})^{r+1}} \dots \quad (22)$$

But we know that [6]

$$\sqrt{\frac{2}{\pi}} (2x)^{\frac{1}{2}(n-1)} e^{x/2} D_{-n}(\sqrt{2}x) \doteq \frac{\sqrt{p}}{(1+\sqrt{p})^n},$$

where $D_n(x)$ is Weber's parabolic cylindrical function. Therefore as before

$$\frac{1}{\sqrt{\pi x}} \int_0^\infty \exp \left[-s - \frac{s^2}{4x} \right] P_n(s) ds = \sqrt{\frac{2}{\pi}} \sum P_{n-r}(0) (2x)^{r/2} e^{x/2} D_{-(r+1)}(\sqrt{2}x),$$

and finally

$$\int_0^\infty e^{-s-s^2/4x} P_n(s) ds = \sum P_{n-r}(0) (2x)^{\frac{r+1}{2}} e^{x/2} D_{-(r+1)}(\sqrt{2}x) \dots \quad (23)$$

4.4. The set of polynomials $\{ \Pi_n(x) \}$, where $\Pi_n(x)$ is a polynomial of degree n in x defined by the relation

$$\Pi_n(x) = e^x \left(\frac{d}{dx} \right)^n \{ e^{-x} A_n(x) \}, \quad \dots \quad (24)$$

where

$$A_n(x) = (a_0, a_1, \dots, a_n, x)^n,$$

is called Angelescus' set.

It is quite apparent that $\frac{A_n(x)}{n!}$ behaves like an Appell polynomial, and so from (24) we get

$$\frac{\Pi_n(x)}{n!} = e^x \left(\frac{d}{dx} \right)^n \left\{ e^{-x} P_n(x) \right\}. \quad \dots \quad (25)$$

Taking the integral representation for $P_n(x)$ from (10) we get

$$\begin{aligned} \frac{\Pi_n(x)}{n!} &= e^x \sum_{p=0}^n \frac{1}{p!} \frac{(a_1, p) \dots (a_r, p)}{(b_1, p) \dots (b_r, p)} \left(\frac{d}{dx} \right)^n \left(\frac{e^{-x} x^{n-p}}{(n-p)!} \right) \mu_p \\ &= \sum_{p=0}^n \frac{1}{p!} \mu_p \frac{(a_1, p) \dots (a_r, p)}{(b_1, p) \dots (b_r, p)} L_{n-p}^{(p)}(x), \quad \dots \quad (26) \end{aligned}$$

where $L_{n-p}^{(p)}(x)$ is the generalized Laguerre polynomial.

The generating function for Angelescus' polynomials was given by Sastri [5] and satisfies the relation

$$\frac{1}{1-t} \exp \left(\frac{-xt}{1-t} \right) \phi \left(\frac{-t}{1-t} \right) = \sum_{n=0}^\infty \frac{\Pi_n(x)}{n!} t^n \dots \quad (27)$$

It is now clear that the generating function for Angelescus' polynomials is obtained from that of Appell polynomials by replacing t by $\frac{-t}{1-t}$ and then dividing by $(1-t)$. Therefore we have

$$\frac{1}{1-t} \phi\left(\frac{-t}{1-t}\right) = \frac{1}{1-t} \int_0^\infty r^F r \left\{ a_1, a_2, \dots, a_r; -\frac{ut}{1-t} \right\} d\beta(t). \quad \dots (28)$$

Putting $y = -t/(1-t)$ in (27) we have

$$\begin{aligned} \exp(yx) \phi(y) &= \sum_{n=0}^\infty \frac{\Pi_n(x)}{n!} (-)^n y^n (1-y)^{n+1} \\ &= \sum_{r=0}^\infty y^r \sum_{n=0}^r \frac{\Pi_n(x)}{n!} \frac{r! (-)^n}{(r-n)! n!}, \end{aligned}$$

Comparing this with (3) we get

$$\frac{P_r(x)}{r!} = \sum_{p=0}^r (-)^p \frac{\Pi_p(x)}{p!} \frac{1}{p! (r-p)!},$$

or

$$P_r(x) = \sum_{p=0}^r (-)^p \frac{\Pi_p(x)}{p!} \binom{r}{p}. \quad \dots \dots \dots (29)$$

The corresponding inverse relation can be obtained from (25) by applying Leibnitz theorem and we readily get

$$\frac{\Pi_n(x)}{n!} = \sum_{r=0}^n (-)^r \binom{n}{r} P_r(x). \quad \dots \dots \dots (30)$$

ACKNOWLEDGEMENT

My thanks are due to Dr. R. S. Varma Senior Scientist, Defence Science Organization, for suggesting me the problem and for guidance in the preparation of the paper. Thanks are also due to Dr. Ram Behari, Head of the Mathematics Department, University of Delhi, for kindly providing me all facilities to carry on research work and for his general encouragement.

REFERENCE

Singh, Vikramaditya (1954). On Angelescus Polynomials. *Proc. Nat. Inst. Sc.*, **20**, 280-289.

Issued July 22, 1954.